*REGULATION NETBALL SYSTEM-

SUITABLE FOR HOME & SCHOOL USE

Sl AGE 8 YEARS TO ADULT

N123111

(E) Top Pole Cap

(S) M8 65mm Bolts
(P) Washers

(G) 38cm Rim

(A) Top Pole (Sits inside Upper Mid Top pole) - -

Scan for an animated
instruction guide

(P) Washer
(H) Net (F) Twist Nut

(B) Upper Mid Pole

(N) Pole Pad 2 Ad V) "S
Needed

() e A —— &

(0C

(C) Lower Mid POI@ ---------=--mmrmreemmeemoe oo
(Q) M8 20mm Bolt -------------- oo R (M) Support Arm
(M) SUPPOIT AMM e 2 : (Q) M8 20mm Bolt
5/ : :
,,,,,,,,,,,,,,,,,,,,,,,,,, e e (K) Wheels
(P) Wassher R 9 _ : : H
AR 2 /
(O) MBNUL -++--s-eemmeseeeeee S B e AL § \ |
(V) M5 SCrew - & . \ :
(O) MBNUp-----ee-oemeeoeeeeee o i (1)M8 70mm Bolt * \
. - (P) Washers ----------- e g
LT (3) Ades
P) WaSher ---------w-wemeeooe
(F) Washer R (L) Base Cap
) (O) MBNU
(D) Bottom POle -----------mneeaceeas
(1) Base

(P) Washer
(U) M8 25mm Bolt

Net1®, imported and distributed by If assistance is needed - do not contact the store!
©2018 Unicom Products Ltd. Al rights reserved. Call our customer services department on 0115 985 3500
Unicorn Products Ltd, GM Operations Centre, Trend Lane, Colwick,

Nottingham NG2 4DS, UK Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).
Save these instructions in the event that the manufacturer has

Please retain our name and address for future reference.
www.net1netball.co.uk | assist@playwiththebest.com to be contacted for replacement parts

c € CONTENTS MAY VARY FROM IMAGE SHOWN.
Not suitable for children under 36 months. WWW o N ET 1 N ET BA L L. C O o U K




*REGULATION NETBALL SYSTEM-

SUITABLE FOR HOME & SCHOOL USE

AGE 8 YEARS TO ADULT
(A) Top Pole x1 (B) Upper Mid Pole x1 (C) Lower Mid Pole x1 (D) Bottom Pole x1
- -
9 ﬁ @

- [ < [ I R

(E) Top Pole Cap x1 (F) Twist Nut x1 (G) 38cm Rim x1 (H) Net x1

(1) Base x1 (J) Axle x2 (K) Wheel x2 (L) Base Cap x1

L]

(N) Pole Pad x1 o (P) Washerx10
N=A

R | B

L]
L]
[]
[ ]

If assistance is needed - do not contact the store!
Call our customer services department on 0115 985 3500
Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).

our Save these instructions in the event that the manufacturer has
www.net1netball.co.uk | assist@playwiththebest.com to be contacted for replacement parts

Please retain our name and address for future reference.

c € CONTENTS MAY VARY FROM IMAGE SHOWN.
Not suitable for children under 36 months. WWW o N ET 1 N ET BA L L. C O o U K




- REGULATION NETBALL SYSTEM - Mf/
SUITABLE FOR HOME & SCHOOL USE
AGE 8 YEARS TO ADULT

- 85mm
—+ 80mm
-+ 75mm
-+ 70mm
—+ 65mm
- 60mm
-+ 55mm
-+ 50mm
—+ 45mm
-+ 40mm
—+ 35mm
-+ 30mm
—+ 25mm

- 20mm
S [T [T [T 11 T

I &
I e

I

e

[
\

-+ 15mm

-+ 10mm

-+ 5mm
X2 X1 X2 X1 X1 X2

M8 20mm M8 65mm M8 65mm M8 70mm M8 25mm M5 16mm

Tools Required

For Filling The Base:

Dry sand or water supply
Funnel
Hose

Scrap Wood

Net1®, imported and distributed by If assistance is needed - do not contact the store!
©2018 Unicom Products Ltd. Al rights reserved. Call our customer services department on 0115 985 3500

Unicorn Products Ltd, GM Operations Centre, Trend Lane, Colwick,

Nottingham NG2 4DS, UK : Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).

Save these instructions in the event that the manufacturer has
www.net1netball.co.uk | assist@playwiththebest.com to be contacted for replacement parts

c € CONTENTS MAY VARY FROM IMAGE SHOWN.
Not suitable for children under 36 months. WWW. N ET] N ET BA LL. CO o U K

Please retain our name and address for future reference.




- REGULATION NETBALL SYSTEM - Mf/
SUITABLE FOR HOME & SCHOOL USE
AGE 8 YEARS TO ADULT

Safety Instructions

FAILURE TO FOLLOW THESE SAFETY INSTRUCTIONS MAY RESULT IN SERIOUS INJURY OR PROPERTY
DAMAGE AND WILL VOID YOUR WARRANTY.
Owner must ensure that all players know and follow these rules for safe operation of this system.

To ensure safety, do not attempt to assemble this system without following the instructions carefully.
Check the entire box and inside all packing material for parts and or other instruction material.
Before beginning assembly, read the instructions and identify parts using the hardware identifier
and partis list in this document. Ensure proper and complete assembly. Supervision is essential for
proper operation and to reduce the risk of accident or injury. A high probability of serious injury
exists if this system is not installed, maintained, and operated properly.

e |f using a ladder during assembly, use extreme caution.

e Capable adults are recommended for this operation.

e Check base daily for leakage. Leaks will cause system to fall.

* Assemble the pole sections properly (if applicable). Failure to do so could cause the pole sections to
separate during play or transport.

* Minimum operational height is 2.44m

Most injuries are caused by misuse and/or not following instructions. Use caution when using this system.

AWarnings Please read this page carefully

Failure to follow these warnings may result in serious injury or damage to property.
Ensure all players follow these rules for safer operation of the system.

Do Do not

Keep your face and mouth away from the rim and net during Do not wear jewellery during play, it may become entangled with
play. If your teeth or face come into contact with the rim and the net.

net, serious injury can occur.
Do not slide or climb onto the system standing upright without
When adjusting the height or moving the system, keep your having filled the base with water or sand.

fingers and hands away from the moving parts.
Do not use the system in windy or severe weather conditions.

Ensure the surface beneath the base is flat and free of stones, System may tip over. Place system in an area protected from the
gravel, or any other debris which may puncture the base, wind or in an area away from property that may be damaged if
If leakage occurs the system may topple over. the system falls.

Check system before each use for loose fittings, wear and tear or | Do not use near overhead power lines.
any other signs of instability. Tighten any loose fittings
Do not hang anything off the rim and do not use the system fo lift
Keep water and organic material away from the pole. The pole or hoist anything.

could rust and fail

Once a month check the pole and all metal parts for rust.
Completely remove rust and repaint with exterior paint. If rust
has penetrated any steel part, replace that part immediately

Net1®, imported and distributed by If assistance is needed - do not contact the store!

©2018 Unicom Products Ltd. Al rights reserved. Call our customer services department on 0115 985 3500
Unicorn Products Ltd, GM Operations Centre, Trend Lane, Colwick,

Nottingham NG2 4DS, UK Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).

RS N o S SV S— Save these instructions in the event that the manufacturer has
www.net1netball.co.uk | assist@playwiththebest.com to be contacted for replacement parts

c € CONTENTS MAY VARY FROM IMAGE SHOWN.
Not suitable for children under 36 months. WWW. N ET] N ET BA LL. CO o U K




*REGULATION

SUITABLE FOR H

NETBALL SYSTEM -

OME & SCHOOL USE

AGE 8 YEARS TO ADULT

)
S Te p ] Identify all the parts for the step before starting ’ @
. | (A) 0
........ = S - 0
O - (A)
6 N
(B) (B) (B)
(A) (B) (F)
e
b ¢ - O (P)
u = “ A s
A : : VU w
______ (A) (8)
(A) .
Get the poles the correct way © o Secure the poles with (R) Bolt
round (A) Top Pole will have A (P) Washer and (F) Twist Nut
two holes at the top (B) Upper Mid ;
Pole will have a crimped end and a )
square hole at the top.
Slide the (A) Top Pole up inside (B) -
Upper Mid Pole
(A) Top Pole x1 (B) Upper Mid Pole x1 (F) Twist Nut x1 (P) Washers x1 (R) Bolt M8 65mm x1

O -

o

Net1®, imported and distributed by

© 2018 Unicorn Products Ltd. All rights reserved.
Unicorn Products Ltd, GM Operations Centre, Trend Lane, Colwick,
Nottingham NG2 4DS, UK

Please retain our name and address for future reference.
www.net1netball.co.uk | assist@playwiththebest.com

c € CONTENTS MAY VARY FROM IMAGE SHOWN.
Not suitable for children under 36 months.

=
=
==
%
=
=
|
=
==
=
=
=
=

If assistance is needed - do not contact the store!

Call our customer services department on 0115 985 3500
Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).
Save these instructions in the event that the manufacturer has

to be contacted for replacement parts

WWW.NETTNETBALL.CO.UK




- REGULATION NETBALL SYSTEM - Mf/
SUITABLE FOR HOME & SCHOOL USE
AGE 8 YEARS TO ADULT

WARNING

This step cannot be reversed ensure you have completed Step1 before continuing

Note: If the item is
assembled incorrecitly,
charges may apply for

replacement parts.
Please call NET1 on
0115 985 3500

for more information.

V N
B v
P A
(©) N
W] N
oA
Starting with the pole assembly U Push fit (E) Top Pole Cap to (A) Top Pole
(A) & (B) Step1 add (C) Lower Mid Pole © |
and (D) Bottom Pole as shown. Be sure
to align the poles so the holes line up
with the slots then to secure the
alignment insert (V) Screw U

Parts & Tools

(C) Lower Mid Pole x (D) Bottom Pole x1 (E) Top Pole Cap x1 (V) M5 Screw 15mm x2

P P

L [N

Net1®, imported and distributed by If assistance is needed - do not contact the store!
©2018 Unicom Products Ltd. Al rights reserved. Call our customer services department on 0115 985 3500

Unicorn Products Ltd, GM Operations Centre, Trend Lane, Colwick,

Nottingham NG2 4DS, UK Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).
Save these instructions in the event that the manufacturer has
www.net1netball.co.uk | assist@playwiththebest.com to be contacted for replacement parts

c € CONTENTS MAY VARY FROM IMAGE SHOWN.
Not suitable for children under 36 months. WWW. N ET] N ET BA LL. CO o U K

Please retain our name and address for future reference.




- REGULATION NETBALL SYSTEM - Mf/
SUITABLE FOR HOME & SCHOOL USE
AGE 8 YEARS TO ADULT

WARNING

Cannot be reversed ensure you have completed Step1 & 2 before continuing

To seat the poles correctly strike the assembled and aligned
poles onto a piece of scrap wood, ensure you have completed
steps 1 & 2 correctly before doing this as it creates a permanent bond
Q
k/& 9
—
Warning this step cannot
be reversed ensure you
have completed Step1 ‘v
& Step 2 before continuing L
Note: If the item is g
assembled incorrectly,
charges may apply for ~
replacement parts.
Please call NET1 on \J
0115 985 3500 e V
for more information. @ 9

Parts & Tools

Scrap Wood

Net1®, imported and distributed by If assistance is needed - do not contact the store!
©2018 Unicom Products Ltd. Al rights reserved. Call our customer services department on 0115 985 3500

Unicorn Products Ltd, GM Operations Centre, Trend Lane, Colwick,

Nottingham NG2 4DS, UK Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).
Save these instructions in the event that the manufacturer has
www.net1netball.co.uk | assist@playwiththebest.com to be contacted for replacement parts

c € CONTENTS MAY VARY FROM IMAGE SHOWN.
Not suitable for children under 36 months. WWW. N ET] N ETBA LL. CO o U K

Please retain our name and address for future reference.




*REGULATION NETBALL SYSTEM-

SUITABLE FOR HOME & SCHOOL USE
AGE 8 YEARS TO ADULT

Attach the Rim to the top pole using

Attach (H) Net to (G) Rim
(S) Bolts, (P) Washers and (O) Nuts

using the net hooks on the

underside of the rim
Ensure all the nuts and bolts are

securely tightened

Parts & Tools

(G) 38cm Rim x1 (H) Net x1 (O) Bolt M8 x2 (P) Washers x4 (S) Bolt M8 65mm X2

|y O | B

If assistance is needed - do not contact the store!
Call our customer services department on 0115 985 3500
Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).

NN R 5 S P S S Save these instructions in the event that the manufacturer has
www.net1netball.co.uk | assist@playwiththebest.com to be contacted for replacement parts

c € CONTENTS MAY VARY FROM IMAGE SHOWN.
Not suitable for children under 36 months. WWW o N ET 1 N ET BA L L. C O o U K




*REGULATION NETBALL SYSTEM-

SUITABLE FOR HOME & SCHOOL USE
AGE 8 YEARS TO ADULT

Slide (J) Axles into the (K) Wheels Locate the wheel axle assembly into Push down firmly until you hear a
the grooves in the base click. Please note if not enough
force is used and the wheels are not

correctly clicked into place they
will fall out while moving the system

Parts & Tools

(J) Axles 2x (K) Wheels x2 (1) Base x1

If assistance is needed - do not contact the store!
Call our customer services department on 0115 985 3500
Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).
our Save these instructions in the event that the manufacturer has
www.net1netball.co.uk | assist@playwiththebest.com to be contacted for replacement parts

Please retain our name and address for future reference.

c € CONTENTS MAY VARY FROM IMAGE SHOWN.
Not suitable for children under 36 months. WWW. N ET] N ET BA LL. CO o U K




*REGULATION NETBALL SYSTEM-

SUITABLE FOR HOME & SCHOOL USE
AGE 8 YEARS TO ADULT

Helpful Tip: This step can be made easier by tipping the system
back onto the wheels and supporting the pole assembly on
4 the upright box

s (O
(P) '(P)

Attach (D) Bottom Pole to (I) Base with
(U) Bolt and (P) Washer

Attach (M) Support Arms to (1) Base with . PN
(Q) Bolts, (P) Washers and (O) Nuts ST

TP @
Then attach the top of (M) Support Arms to ©) /
(D) Bottom Pole using (T) Bolt, (P) Washers and (O) Nuts N
(M) Support Arms x2 (0) Nut M8 X3 (P) Washers x5 (M BoltM8 | (Q)BoltsM8 | (U)Bolt M8
70mm x1 20mm x2 25mm x1
< = A
B = L) O

I I B

Net1®, imported and distributed by If assistance is needed - do not contact the store!
©2018 Unicom Products Ltd. Al rights reserved. Call our customer services department on 0115 985 3500
Unicorn Products Ltd, GM Operations Centre, Trend Lane, Colwick,

Nottingham NG2 4DS, UK Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).
Save these instructions in the event that the manufacturer has

Please retain our name and address for future reference.
www.net1netball.co.uk | assist@playwiththebest.com to be contacted for replacement parts

c € CONTENTS MAY VARY FROM IMAGE SHOWN.
Not suitable for children under 36 months. WWW. N ET] N ET BA LL. CO o U K




*REGULATION NETBALL SYSTEM

SUITABLE FOR HOME & SCHOOL USE

AGE 8 YEARS TO ADULT
=
Step”/ 7
(L
A
vi
.~ (

Remove (L) Base Cap
and fill with either sand e
or water, if filling with sand
a funnel is recommended.

Once completely full
replace (L) Base Cap J =

Filling the Base (requires 2 adults)

For safety reasons, we recommend that sand be used instead of water to fill the base. If a leak
develops, water could run out unnoticed, allowing the system to fall over, resulting in personal injuries or
property damage. Check the base carefully for leaks. If a leak is found, lay the system down on the
ground and call customer services on 0115 985 3500 for assistance. Do not use, stand up, or play on a
leaking system. When filling, moving, or playing on the system, always make sure the base is on a
smooth surface free of stones or sharp objects that could puncture the base. if the system is to be used
indoors, the base must be filled with sand.

Do Not allow water in the base to freeze. During sub-freezing weather conditions
add a small amount of non toxic anti-freeze to the water to prevent freezing.

Net1®, imported and distributed by If assistance is needed - do not contact the store!
©2018 Unicorn Products Ltd. Al rights reserved. Call our customer services department on 0115 985 3500

Unicorn Products Ltd, GM Operations Centre, Trend Lane, Colwick,

Nottingham NG2 4DS, UK Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).

U U Save these instructions in the event that the manufacturer has
www.net1netball.co.uk | assist@playwiththebest.com to be contacted for replacement parts

c € CONTENTS MAY VARY FROM IMAGE SHOWN.
Not suitable for children under 36 months. WWW. N ET] N ET BA LL. CO o U K




*REGULATION NETBALL SYSTEM-

SUITABLE FOR HOME & SCHOOL USE
AGE 8 YEARS TO ADULT

(N)

Add (N) Pole Pad

To Adjust the height of the system remove (N) Bolt, (P) Washer and (F) Twist Nut, Slide (A) Top Pole
up or down and re insert (N) Bolt securing with (P) Washer and (F) Twist Nut at chosen height

Height Settings: 2.44m - 2.59m - 2.74m - 2.89m - 3.05m (3.05m Regulation Height)

www.hetlnetball.co.uk

assist@playwiththebest.com
0115 985 3500

Net1®, imported and distributed by If assistance is needed - do not contact the store!

©2018 Unicorn Products Ltd. Al rights reserved. Call our customer services department on 0115 985 3500

Unicorn Products Ltd, GM Operations Centre, Trend Lane, Colwick,

Nottingham NG2 4DS, UK Hours: 9am to 5pm, Monday to Friday (except Bank Holidays).
U S S — Save these instructions in the event that the manufacturer has

www.net1netball.co.uk | assist@playwiththebest.com

to be contacted for replacement parts
CONTENTS MAY VARY FROM IMAGE SHOWN.

c € Not suitable for children under 36 months. WWW, N ET] N ET BA LL. CO 0 U K




